

1. 다음 안에 알맞은 식을 구하여라.

$$\frac{3}{5}a^2 - \frac{1}{3}a + \frac{1}{7} + \text{} = a^2 - \frac{3}{4}a + \frac{1}{2}$$

① $\frac{2}{5}a^2 - \frac{5}{12}a + \frac{5}{14}$

③ $-\frac{2}{5}a^2 - \frac{1}{6}a + \frac{5}{7}$

⑤ $\frac{3}{5}a^2 + \frac{3}{4}a - \frac{5}{7}$

② $\frac{3}{5}a^2 - \frac{3}{4}a - \frac{5}{7}$

④ $\frac{2}{5}a^2 + \frac{5}{12}a + \frac{5}{14}$

해설

$$\begin{aligned}\text{} &= a^2 - \frac{3}{4}a + \frac{1}{2} - \frac{3}{5}a^2 + \frac{1}{3}a - \frac{1}{7} \\ &= \frac{2}{5}a^2 - \frac{5}{12}a + \frac{5}{14}\end{aligned}$$

2. $a = 2x - 3$ 일 때, 다음 식을 x 에 관한 식으로 나타내면?

$(2a - 3)x^2 - ax + a + 3$

- ① $-4x^3 + 11x^2 + 5x$

② $-4x^3 - 11x^2 - 5x$

③ $-4x^3 - 11x^2 + 5x$

④ $4x^3 - 11x^2 - 5x$

⑤ $4x^3 - 11x^2 + 5x$

해설

$$\begin{aligned} &a = 2x - 3 \text{을 주어진 식에 대입하면} \\ &(2a - 3)x^2 - ax + a + 3 \\ &= \{2(2x - 3) - 3\}x^2 - (2x - 3)x + (2x - 3) + 3 \\ &= (4x - 9)x^2 - (2x - 3)x + 2x - 3 + 3 \\ &= 4x^3 - 9x^2 - 2x^2 + 3x + 2x \\ &= 4x^3 - 11x^2 + 5x \end{aligned}$$